USN 10EC65

Sixth Semester B.E. Degree Examination, Dec.2014/Jan.2015
Operating Systems

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rematining blank pages.

Time: 3 hrs. Max. Marks: 100
/g/ Note: Answer FIVE full questions, selecting %
9 at least TWO questions from each part. ’?/
/ / PART - A {,%1
g J’? What is O.8.? What are the common tasks performed by O.S. and ey are
‘g formed'? (07 Marks)
& turn around time in batch processing system. E\x (06 Marks)
g c. DefmAl;trlbuted system. Give the key concepts and techniques used,m distributed O.S.
8 (07 Marks)
§ 2 a. Explain wnﬁa’basw structure used for system generatlon n: conﬁgurmg and installing
2 SUpervisor. (07 Marks)
E b. Explain with a he working of'a two layered O.S. sigugture. (06 Marks)
s ¢. Witha neat dlagri%fgglam the working of a mlcrokeméﬁased O.S. (07 Marks)
3 3 a. Define a process. List fhc:ﬁl fferent fields of a process&:entrol block. (06 Marks)
é b. Explain the four fundamentastates of a process{vylth state transition diagram. (07 Marks)
g ¢. What are the advantages of t s over prowa,é‘z Explain kernel level threads. (07 Marks)
é 4 a. (06 Marks)
5 b. (06 Marks)
£ c.
| (] Marks)
g
g . % PART-E 7.
8 5 a. Explain what are the fun performed by paging-hardware. (06 Marks)
§ b. What are the ﬁmctmn\ﬁ:ned by VM handler? G1v?{,th§ data structures of VM handler.
= %ﬁ (06 Marks)
g ¢. Consider the pa%@ erence string 5, 4, 3,2, 1,4, 3,5, 4 5, 2, 1, 5. How many page faults
= would occur fq\fthe following page replacement policies assurﬁmg 3 frames?
% i) FIFO 7 i) LRU . (08 Marks)
g 6 a. What Qrﬁxthe facilities provided by the file system and the input- outplg.pantrol system?
§ ) (06 Marks)
5‘;:; b. V%}s figure explain the working of a linked allocation of disk space. 7 < {07 Marks)
?% C?x lain the interface between file system and IOCS. (07 Marks)
gn C" With diagram explain the working of a long, medium and short term schedul time
R ‘&% sharing system. { ks)
5. Q b. For the following given process for scheduling. e
\?Q\ Process P; P P; Py Ps ‘_\"36')
o Admisston time 0 2 3 4 8
Service time 3 3 5 2 3
Calculate mean turn around time and mean weighted turn around for the (i) FCFS
scheduling (1i)) Round-Robin scheduling with time slicing (&) for 1 second. (10 Marks)
8 a. Explain the primary issues in implementing message passing. (06 Marks)
b. Explain the working of a blocking and non-blocking delivery protocols. (07 Marks)
¢. Explain mailboxes. Give the advantages of mailboxes. (07 Marks)
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